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@\ BAL BHARATI PUBLIC SCHOOL
_.__?_':I_“.ALF-YEARLY EXAMINATION (2024-25)
CLASS - VI
SUBJECT- MATHEMATICS
SAMPLE PAPER

TIME: 2.5 HOURS Maximum Marks: 60

General Instructions

(i) Question paper comprises four Sections - A, B and C. There are 28 questions in the question
paper. All questions are compulsory.

(ii) Section A - Question 1 to 12 are MCQs of 1 mark each.
(iii) Section B - a) Question no. 13 to 18 are Short Answer Type Questions, carrying 2 marks each.
b) Question no. 19 to 22 are Long Answer Type Questions, carrying 3 marks each.

(iv) Section C - Question no 23 to 28 are Competency Based Questions, carrying 4 marks each.

SECTION A (OBJECTIVE BASED QUESTIONS) (12 marks)

Q1. The number of diagonals in a triangle are

a)1 b) 0 c)3 d) 4
Q2. When we add one negative and one positive integer, the result is always

a)Negative b) positive c) depends on the greater value d) none of these
Q3. The greatest 5-digit number with 9 at tens place is

a) 87659 b) 87695 c) 78695 d) 86795
Q4. A pair of prime numbers with difference as 2 are known as

a) Twin primes  b) co-primes C) prime d) composite
Q5. The number of integers between 3 and -3 is

a) 4 b) 5 c)7 d) 8
Q6. The additive inverse of 6 is

a) 0 b) -0 c) -6 d) 6




Q7. Which of the following is not a natural number.

a) 0 b) 1 c)3 d) 2
Q8. The HCF of two consecutive even numbers is

a) 0 b) 1 c)2 d)3
Q9. The product of successor and predecessor or 99 is

a) 9900 b) 9800 c) 9000 d) 9090
Q10. The number of whole numbers between 20 and 35 is

a) 18 b) 16 c) 20 d) 16
Q11. The predecessor of -68 is

a) -69 b) -67 c) 68 d) 69
Q12. The number of end point in a ray is

a) 0 b) 1 c)2 d) infinite

SECTION B (SUBJECTIVE BASED QUESTIONS)

Q13. Find the greatest and smallest 4-digit number using the digits 5,4,2,0, keeping 5 at
hundreds place. (2 marks)

Q14. Myra pays X 1500 per month for her house rent. What will be the total amount paid

by her after 2 years? (2 marks)
Q15. Solve using number line (2 marks)
i) 7x2 ii) 8-6
Q16. Find the first three common multiples of 2 and 5. (2 marks)
Q17. Write opposites of the following (2 marks)
i) 80 m east ii) deposit of X300
Q18. Using divisibility test, determine if 5449 is divisible by 11. (2 marks)

Q19. A box contains 50 packets of biscuits each weighing 120g. How many such boxes can
be loaded in a van which cannot carry beyond 900kg? (3 marks)

Q20. Fatima wants to mail three parcels to three village schools. She finds that the postal
charges are Rs 20, Rs 28 and Rs 36, respectively. If she wants to buy stamps only of
one denomination, what is the greatest denomination of stamps she must buy to mail
the three parcels? (3 marks)



Q21. Using the given figure, name (3 marks)
i) Two pairs of parallel lines l
ii) Point of intersection of line 1 and [z [ Ne Q >
iii) Two pairs of intersecting lines L \RX/ R
Is€ >
Q22. Solve the following: '/ \ (3 marks)

i) (-900)+ (-900)-(-450)
i) 300-800+ (-550)

SECTION C (COMPETENCY BASED QUESTIONS)

Q23. i) The LCM of two co-prime numbers is their ( 1+1+1+1 marks)

a) product b) difference C) sum d) none of these
ii) Which of the following is a co-prime pair
a) 5,7 b) 2,4 c) 15,21 d) 11,22

iii) Replace * in 6*3 by the smallest number to make it divisible by 9.

iv) A number is divisible by 5 and 6. It may not be divisible by
a) 15 b) 30 c) 10 d) 85
Q24. Choose the correct options: ( 1+1+1+1 marks)

i) Which of the following pictures can be an example of a line segment?

a) P b) 5 c) _ d)

ll' \\
|

ii) Which of the following is not true for both a ray and a line?
a) They have end points b) They have start points
c) They have no thickness d) They can have infinite length

iii) JLKM is a quadrilateral. Which of the following is true for the quadrilateral JLKM?

a) «J is adjacent to zK J

b) £J is opposite to zM

c) Side JL is opposite to side MK

d) Side KL is adjacent to side JM Y



iv) CE is an example of £

a) Aray b)Anangle c)Apoint d) A line segment e 5

Q25. In a five- digit number, digit at ten’s place is 4, digit at unit’s place is one-fourth of
ten’s place digit, digit at hundreds place is 0, digit at thousand’s place is 5 times of
the digit at unit’s place and ten thousand’s place digit is double the digit at ten’s
place. Write the number. (4marks)

Q26.A) The figure shows the position of the satellite above the earth. PR is the line
joining the satellite and the Centre of the earth. P is the position of the satellite;
Q is a point on the surface of the earth and R is the Centre of the Earth. The
distance between P and Q is 1300 km and the distance between the Centre of
earth and the satellite is 7671 km. (1+1+1+1 marks)

i) What is the distance between the points Q and R?
a) 1300 km b) 6371 km c) 7671 km d) 8971 km

ii) Shobhit marks Q as zero and the direction from Q to P is positive. What is the
distance of R with reference to P?

iii) Draw a number line to represent the above information.

B) 8 - 8 = 0 Which of the following is true for the numbers shown above?

a) -8 is a multiplicative inverse of 8 b) -8 is a multiplicative identity of 8.

c) -8 is the additive identity of 8. d) -8 is the additive inverse of 8.
Q27. i)The product of non-zero whole number and its successor is always ( 1 mark)

a) An even number b) an odd number c¢) a prime number d) divisible by 3
ii) Observe the number line (1+1+1 marks)

+——+—+—+—4—4+—4———+—+—> Number Line
S5 4 3 21 01 2 3 4 5 6



a) which number do we get if we move 9 steps to the left of 4?

b) which number do we get if we move 5 numbers to the right of (- 2)?

c) If you are at (- 3) on the number line, in which direction should you move to reach
(- 8)?

Q28. i) Find the missing number (1+1+1+1mark)

ii) Is the given figure a polygon? Justify your answer.

iii)Consider the following figure and name
a) The point exterior to £PQR
b) The point(s) interior to £PQR
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This question paper contains 4 printed pages

", BAL BHARATI PUBLIC SCHOOL, DWARKA®
CLASS -VI
MID TERM EXAMINATION (2024 — 25)
SUBJECT: GENERAL SCIENCE MODEL PAPER
TIME: 2.5 Hours Max. Marks: 60

General Instructions:

1. All questions are compulsory.

2. Marks are indicated against the questions.

3. The paper is divided into 3 sections- Section A, B and C. Internal choice is provided in

paper.

SECTION-A
OBJECTIVE QUESTIONS (12 marks)

Q. Choose the correct alternative: (1x 12 =12)
1. An oily translucent patch on a paper shows that the food item contains
c) carbohydrate b) protein c) fat (d) minerals

2. Pick one material from the following which is completely soluble in water.
(a) Chalk powder (b) Tea leaves (c) Glucose  (d) Sawdust

3. Palak bought some vegetables such as french beans, lady’s finger, green chillies, brinjals
and potatoes all mixed in a bag. Which of the following methods of separation would be
most appropriate for her to separate them?

(a) Winnowing (b) Sieving (c) Threshing  (d) and picking

4. Which of the following is not a correct match?
(a) Petiole: attaches leaf to stem (b) Lamina: green flat part of leaf
(c) Margin: gives shape to the leaf (d) Veins: transpiration

5. Which of the following leaves have reticulate venation?

a) Maize b) Wheat c) Grass d) Tulsi
6. Innermost part of the flower is .
a) Sepals b) pistil c) Petals d) Stamen
7. Which of the following is soft?
a) Cotton b) Stone c) Iron d) Wood
8. Four mixtures are given below.
(1) Kidney beans and chick peas (i) Pulses and rice
(iii) Rice flakes and corn (iv) Potato wafers and biscuits
Which of these can be separated by the method of winnowing?
a) (i)and (i) b) (ii) and (iii)
c) (i) and (iii) d) (iii) and (iv)
9. Water comes out of leaves in form of vapour by a process called
a) Photosynthesis b) Transpiration
C) Respiration d) Stomata

Page 10of4



10. The height of a person is 1.55 m, express the height in cm.

(a) 155cm (b) 1.55cm (c) 15.5cm (d) 1550cm
11. Which of the following terms constitute the male part of the flower?

(a) Sepals and anther (b) Filament and ovary

(c) Stamen and stigma (d) Filament and anther

12. Which is a correct relationship?
(@ 1 m=100cm (b) 1 cm =100 cm
(¢)1km=100m (d) 1 km =1000 cm

SECTION—B
SUBJECTIVE QUESTIONS (24 marks)

13.Name one deficiency disease that can arise due to deficiency of following in the diet. (2)
a) Vitamin A b) Vitamin C

14 Mixtures of red chilli powder in water, butter in water, petrol in water, and honey in  (2)
water were given to Radha, Sudha, Sofia and Raveena, respectively. Whose mixture
is in solution form? Give reason for your answer.

15 What is winnowing? Where is it used? 2

16. The distance between Radha’s home and her school is 3250 ,m. Express this (2)
distance in km. and cm.

17. Why do we need standard unit for measurement? 2
OR

What type of motion do the following objects have?
() The soldiers in marchpast.
(b) The needle of a sewing machine

18.Explain how we separate mixture in the following process: (@)
a) Sieving
b) Threshing
19. How will you detect the presence of protein in the given food sample? (2)
20.a) What do you mean by measurement? (5)
b) Explain ,How will you measure the length of a curved line?
OR

a) Give two examples each of modes of transport used on land, water and air.

b) While measuring the length of a knitting needle, the reading of the scale at
one end is 3.0 cm and at the other end is 33.1 cm. What is the length of the
needle?

c) Give two examples of periodic motion.
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21 a) Draw the diagram of a section of a leaf showing any four parts.
b) Write the function of any two parts of leaf.

SECTION-C
COMPETENCY BASED QUESTIONS (24 marks)

22. Minerals and vitamins are needed in very small quantities by our body as
compared to other components, yet, they are an important part of a balanced
diet’. Explain the statement.

23. Which among the following materials would you identify as soft materials and
why? Ice, rubber band, leaf, eraser, pencil, pearl, a piece of wooden board,
cooked rice, pulses and fresh chapati.

24. Sheela, Saima and Ravi have to dissolve maximum amount of sugar in the
same amount of milk so as to win in a game. Ravi took hot boiling milk while
Saima took ice cold milk. Sheela managed to get milk at room temperature.

Whom do you think would win the game and why?

(®)

(3)

(3)

(3)

25. Arrange the jumbled words to arrive at the appropriate names of materials and (1x3=3)

also write one use of each.
(@) soekrnee
(b) gavnier
a) reltahe

26. Why do we need to separate different components of a mixture? Explain
by giving two examples.

27. Observe the picture and answer the following labelings:

Page 3 of 4
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28. Fill in the blanks:
a) Eating too much of fat rich foods may lead to a condition called__ .
(b) The component of food that does not provide any nutrient to our body and yet is
essential in our food is :
(c) The vitamin that gets easily destroyed by heating during cookingis .

29. a) Rajat was riding in his bicycle along a straight road. He classified the motion
of various parts of the bicycle as
(i) rectilinear motion,
(ii) circular motion and
(iii) both rectilinear as well as circular motion. Can you list one part of the bicycle
for each type of motion? Support your answer with reason.

b) Mention the device used to measure the following:
)} Lenth of a classroom
i) Circumference of a tree trunk

Page 4 of 4
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This question paper contains five printed pages

BAL BHARATI PUBLIC SCHOOL
HALF-YEARLY EXAMINATION (2024-25)
CLASS -VI
SOCIAL SCIENCE
SAMPLE PAPER

TIME: 2.5 hours M.M: 60

General Instructions:
A. The paper consists of three sections.
B. All the answers must be correctly numbered as in the question paper.
C. Section A is Objective type questions. (12 Marks)
D. Section B is Subjective type questions. (24 Marks)
E. Section C is Competency based questions. (24 Marks)

SECTION A
MCQs (1x12=12)
Q1. is the name given to the process in which people grow plants and look after
animals.
(a) Domestication (b) Plantation (c) Flowering (d) Agriculture

Q2. Which art was learnt by Neolithic man made by hand and dried in sun and later
wheel was used to make it ?
(a) Cart (b) Wheel (c) Chair (d) Pots

Q3. Where are the Manuscripts kept?
(@) In temples (b) In museum (c) Both (a) and (b) (d) In houses

Q4.If the government decides to improve the conditions of roads in your neighbourhood,
which level of the government is responsible for this decision ?

(a) National government (b) State government
(b) Local government (d) International Government

Q5. What dos the term Universal Adult Franchise mean ?
(a) Only men can vote
(b) Only adults above 50 can vote



(c) Everyone who is 18 years and above has the right to vote
(d) Only those who pay taxes can vote

Q6. Which is the most recognisable constellation ?
(a) Saptarishi (b) Moon (c) Sun (d) Mars

Q7. The circle that divides the globe into day and night is called
(a) Circle of darkness (b) Circle of day and night
(c) Circle of illumination (d) None of these

Q8. Sam and Ali come from different religious backgrounds but are best friends. One
day, Sam hears someone saying mean things about Ali’s religion. What is the best
way for Ali to respond?

a) Ignore the comments and walk away

b) Join in with the mean comments

¢) Stand up for Ali and explain why such comments are hurtful and wrong

d) Stop being friends with Ali

— — — —

Q9. The “discovery of India” was written by

(a) Mahatma Gandhi (b) Abdul Kalam Azaad
(c) Chandrashekhar Azaad (d) Pt. Jawahar Lal Nehru

Q10. Changes in day are night are caused due to .
(a) Rotation (b) Revolution (c) Gravitation (d) Atmosphere

Q11.During an election, citizens go to vote for their leaders. This process shows the
government’s role in :
(a) Protecting the environment
(b) Ensuring national security
(c) Upholding democracy
(d) Managing public services

Q12. If the earth suddenly stopped rotating, which of the following would be the most
immediate impact on life ?
(a) There would be no change in the weather pattern
(b) There would be no more day and night cycle
(c) The seasons would change every month
(d) The Earth would start rotating in the opposite direction

SECTION B

Q13. Define Diversity. And how does it enriches our lives? (1+1=2)
Q14. Explain how the Prime Meridien and the International Date Line help in dividing the
Earth into different time zones. What challenges might arise if these imaginary lines
were not established? 2
Q15. Why does the Southern Hemisphere experience Winter and Summer Solstice at
different times than that of the Northern Hemisphere? 2
Q16. Explain any two functions of the government. 2
Q17. Differentiate between Monarchy and Democracy (two points) 2



Q18. If an astronaut were to travel to Mars, what would be one of the most significant
challenges they would face compared to living on Earth ? 2

Q19. How did the domestication of animals benefit early farming communities (two
points) 2

Q20. What do you understand by the word ‘government’? List 3 ways in which you think
Government affects your daily life. 3

Q21. Why is the Equator considered an important line of latitude? Explain with the help
of a diagram representing the important latitudes. (2+3=5)

Q22. State whether true or false and correct the sentence. (1x2=2)

(a) The use of stone tools was a characteristic of the Mesolithic period.
(b) Only National government can make laws, not the local government.

SECTION C

Q23. Read the passage and answer the following questions:

All over Europe and USA, women and the poor have had to fight for participation in
government. Women's struggle to vote got strengthened during the First World War. This
movement is called the women's suffrage movement.Many women began organising and
managing different kinds of work. When people saw this they began to wonder why they
had created so many unfair stereotypes about women and what they were capable of
doing. So women began to be seen as being equally capable of making decisions. The
suffragettes demanded the right to vote for all women and to get their demands heard
they chained themselves to railings in public places. Many suffragettes were imprisoned
and went on hunger strikes, and they had to be fed by force. American women got the
right to vote in 1920 while women in the UK got to vote on the same terms as men some
years later, in 1928.

(a) What was the suffragist movement ? 1

(b) Why do you think it is important that everyone is given the right to vote? (Two
points) 2

Q24. Read the passage given below and answer the following questions:

This was also a time when several grain bearing grasses, including wheat, barley and rice
grew naturally in different parts of the subcontinent. Men, women and children probably
collected these grains as food, and learnt where they grew, and when they ripened. This
may have led them to think about growing plants on their own. In this way people
became farmers. People could also attract and then tame animals by leaving food for
them near their shelters. The first animal to be tamed was the wild ancestor of the dog.
Later, people encouraged animals that were relatively gentle to come near the camps
where they lived. These animals such as sheep, goat, cattle and also the pig lived in
herds, and most of them ate grass. Often, people protected these animals from attacks
by other wild animals. This is how they became herders.

3



(a) What led hunters and gatherers to grow crops? 1

(a) How did they become herders? 1
(b) Why did early human beings practicing farming instead of relying solely on hunting
and gathering? 1

Q25. Read the passage given below and answer the following questions:

This is the way boys are and this is how girls are: these are statements we hear
constantly and accept without even thinking, and we start believing that each one of us
must behave accordingly. We fit all boys and all girls into an image that society creates
around us. When people say that those who belong to a particular country, religion, sex,
race or economic background are “stingy,” “lazy,” “criminal” or “dumb,” they are using
stereotypes. Stereotypes stop us from looking at each person as a unique individual with
his or her own special qualities. Stereotypes affect all of us as they prevent us from
doing certain things, that we might otherwise be good at.

(a) What is Stereotype? 1
(b) How do you think stereotypes affect us and prevent us from doing certain things.
(two points) 2
Q26. Correct the underlined term: (1X2=2)

(a) The art of making pictures and symbols by carving on stone is called farming.
(b) All planets move around the sun in a fixed elliptical path called the_axis.

Q27. Match the contents of the following columns: (1X5=5)
Column A Column B

(i) Summer Solstice (a) Stone tools

(i)  Equator (b) Longest day of the year

(i)  Palaeolithic (c) Indian Standard Time

(iv) IST (d) 22nd December

(v) Winter Solstice (e) An imaginary line
Q28.What causes the change in seasons? (2+2=4)
Q29. Identify the places based on clues given on the map: (1X4=4)

A. This site is located near Bolan Pass, where people grew barley and wheat.
B. An important Neolithic site in present day Karnataka.

C. Aplace where traces of ash were found.

D. This is an old site with caves and rock shelters.






Bal Bharati Public School, Dwarka
Class VI Mid Term Exam (Session 2024-25)
Subject: Computer Science(Sample Paper)

Time: 40 Mins MM: 25
General Instructions

1. All questions are compulsory

2. Each question carry 1 mark

3. Write option in the box in second column

Part A- MCQ Answer

1 | Motion inputis the examples of ........cccccccvveeneeen.

a) Storage Device
b) Input Device
c) Output Device
d) None

2 Primary Memory is also known as ...........ccceeeeeee.

a) Backup Memory
b) Main Memory
c) Basic Memory
d) All of the above

3 A e, is a narrow recording band that forms a full circle on the
surface of the disk.

a) Sector

b) Record

c) Track

d) None

4 The collection of worksheets is called......................

a) Workbook
b) Worksheet group
c) Document
d) Spreadpage

S | The hardware components that convey information to the user are called .

a) Processing Devices
b) Output Devices

c) Input Devices

d) Print Devices

6 | ROM MEMOIY IS eouvveererereriecveteree ettt v evea s in nature.




a) Volatile

b) Non-Volatile
c) Botha. &b
d) None

Pen drive is example of primary storage device
a) primary storage device
b) Secondary storage
c) Tertiary
d) None

Ascanneris an ....ceeeeeeeeeennnn.
a) Input Device
b) Output Device
c) Processing Device
d) None

Selected group of cells is called .....................
a) Range
b) Worksheet
c) Highlighters
d) None

10

Cell with dark boundary is called
a) Active cell
b) Current cell
c) both
d) none

PART B : TRUE / FALSE

11

Webcam is example of output devices.

12

There are two types of memory secondary and tertiary memory.

13

Excel is also known as electronic spreadsheet.

14

The conditional formatting is used to format the data according to specified
condition.




15

Defragmentation reduces the time a hard drive takes for locating the file.

PART C: EXPAND THE FOLLOWING TERM

16

P S ettt et ee e et ettt et et et e er e s aen e atentensensenne e et neeneas
17

P U ettt e e et e e st sae e teebeeteeaeerees et et ertaes et aesaeneessennenrenns
18

U ettt et ettt e a e a e e a e e e e e e et e et eaeeaeeteeaeeneeneeneens
19

S B ettt ettt et e e et e e st eaeeteeaeeaeeneeaeenneneenes
20

RAIM- oottt sttt et et e et ebe st st te st s et a s eneeaeebe st e neaaenberasarseasenis

PART D : Fill in the blanks

21

.................................... printers have direct contact between printer head and paper.
22

................................... is a Rapidity Stress Injury whose symptoms include numbness,

tingling, and pain in the fingers.
23

Secondary storage device in computer that stores data permanently.

24

The .cccoennnnne box gives the cell reference using a combination of a letter and a number.
25

........................ command is used to quickly create a merged cell to hold the title text.




BAL BHARATI PUBLIC SCHOOL, DWARKA
SAMPLE PAPER (HALF YEARLY)
CLASS - Vi
SUBJECT- ENGLISH

TIME: 2.5 hrs Maximum Marks: 60

General Instructions:

(i) Question paper comprises of three Sections - A, B, and C. There are 34 questions
in the question paper. All questions are compulsory.

(ii) Section A - Reading
(iii) Section B - Grammar and Writing
(iv) Section C - Literature

(v) Attempt questions based on specific instructions for each part.

SECTION-A (READING)

Q1. Read the following passage carefully: (7)

1.

The White Tiger, a rare and majestic creature, has a unique place in Indian wildlife
history. The first white tiger was discovered in the wild in Rewa, a princely state in
the state of Madhya Pradesh, India. This historic event took place in 1951 when
Maharaja Martand Singh spotted a white tiger cub during one of his hunting trips.
This cub, named Mohan, was a variant of the Bengal tiger with a rare genetic
condition. Unlike the usual orange-and-black striped Bengal tigers, Mohan had
white fur with black stripes, blue eyes, and a pink nose. The Maharaja decided to
bring Mohan to his palace and protect him from poachers and other dangers in the
wild.

. Mohan became the progenitor or founder of many white tigers in captivity. The

Maharaja’s breeding program at the Rewa Palace successfully produced several
generations of white tigers. This unique lineage of tigers became a source of
fascination and pride for the people of Rewa and India. White tigers from Mohan's
lineage were later sent to various zoos and wildlife parks across the world.

White tigers, despite their beauty, face challenges in the wild due to their distinct
coloration. Their white fur makes them more visible to predators and poachers,
and they are often at a disadvantage in the dense forests where camouflage is
crucial for survival.

Today, white tigers are mostly found in captivity, where efforts are made to
ensure their health and well-being. Conservationists continue to work towards



preserving the genetic diversity of the Bengal tiger population while protecting

these rare white tigers from extinction.
Answer the following questions:

I. Where was the first white tiger discovered in the wild?
a. Rajasthan
b. Gujarat
c. Madhya Pradesh
d. Maharashtra

2. Who discovered the first white tiger?
a. Maharaja Jai Singh
b. Maharaja Martand Singh
c. Maharaja Ranjit Singh
d. Maharaja Bhupinder Singh

3. What was the name of the first white tiger cub?
a. Raja
b. Mohan
c. Shera
d. Sheru

4. What distinguishes a white tiger from a regular Bengal tiger?
a. They have no stripes
b. They are larger in size
c. They have white fur with black stripes, blue eyes, and a pink nose
d. They have golden fur with black stripes

5. Why are white tigers more visible to predators and poachers in the wild?
a. They are larger in size
b. They have a louder roar
c. Their white fur makes them stand out in the forest
d. They move more slowly

6. What efforts are being made to protect white tigers today?
a. Increasing hunting of white tigers
b. Breeding them only in the wild
c. Keeping them in captivity to ensure their health and well-being
d. Releasing them into the forests

7. State whether the following statement is true or false.
White tigers are a result of a rare genetic condition and are not albino.

Q2. Read the following passage carefully:

(1X7=7)

(7)

1. Amul, a dairy cooperative based in Anand, Gujarat, is one of India's most successful
and beloved brands. It was founded in 1946 and played a pivotal role in India’s
White Revolution, which transformed the country into one of the world's largest

producers of milk and milk products.
2



2. The story of Amul began with the vision of Dr. Verghese Kurien, often called the
“Father of the White Revolution” in India. At a time when dairy farmers were
struggling due to exploitation by middlemen, Dr. Kurien and his team established a
cooperative model that empowered farmers. This model made sure that farmers
received fair prices for their milk, eliminating the middlemen and creating a direct
link between producers and consumers.

3. Amul introduced innovative products and marketing strategies that captured the
hearts of millions. Their famous slogan, "Utterly Butterly Delicious,” and the iconic
Amul girl mascot became household names. The cooperative's focus on quality and
affordability helped it grow rapidly.

4. One of the major achievements of Amul was the establishment of a robust supply
chain that included milk collection centres, chilling units, processing plants, and
distribution networks. This efficient system ensured that fresh milk and dairy
products reached consumers across India.

5. Amul's success had a far-reaching impact. It improved the livelihoods of millions of
dairy farmers, especially in rural areas, and contributed significantly to India's
economy. The cooperative model of Amul became an example for other industries,
showcasing the power of collective effort and community-based business practices.

6. Despite facing challenges such as fluctuating milk prices and competition, Amul
continues to thrive and innovate. It has expanded its product range to include ice
creams, cheese, chocolates, and beverages, maintaining its commitment to quality
and customer satisfaction.

Answer the following questions: (1X7=7)

1. In which year was Amul founded?
a. 1936
b. 1946
c. 1956
d. 1966
2. Who is known as the "Father of the White Revolution" in India?
a. Dr. A.P.J. Abdul Kalam
b. Dr. Verghese Kurien
c. Dr. Vikram Sarabhai
d. Dr. M.S. Swaminathan
3. What was the primary goal of the cooperative model established by Amul?
a. To increase milk prices for consumers
b. To eliminate middlemen and ensure fair prices for farmers
c. To promote organic farming
d. To reduce milk production



4. What is the famous slogan of Amul?
a. "The Taste of India”
b. "Goodness of Milk"
c. "Utterly Butterly Delicious”
d. "Pure and Fresh"
5. Which character is associated with Amul's advertising campaigns?
a. The Amul boy
b. The Amul elephant
c. The Amul girl
d. The Amul tiger
6. State whether the following statement is true or false.
Amul's cooperative model eliminated middlemen and ensured that farmers received fair
prices for their milk.
7. What impact did Amul have on rural areas in India?
a. It decreased the income of dairy farmers
b. It improved the livelihoods of millions of dairy farmers
c. It reduced the number of dairy farmers
d. It had no impact on rural areas

SECTION-B (GRAMMAR & WRITING)

Q3. You left your school jacket in the classroom the previous day and now you are unablr
to find it. As Akshay Arora/Astha Arora, draft a notice for school notice board, giving all
the necessary details in not more than 50 words. Remember to put the notice in a box.(4)

OR

Design an attractive poster on SAY NO TO PLASTIC. Include a message or a slogan in your
poster.

Q4. Recently a puppet show was organised in your school to aid the flood victims. Write a
letter to you friend in another city, describing the show explaining how you liked it.  (6)
OR
Games and sports are a great way of staying healthy and fit. Write a letter to your cousin

telling about the importance of sports and encouraging him/her to take part in sports.

Q5. Do as directed: (1X12=12)
(1) Please pass me sugar. (Choose the correct adjective)
a) few
b) many
C) some
(i1) is the best part of our life. (Fill in the blank with the abstract noun of
‘child’.)



(ifi)  The children got scared of the of bees. (Choose the  appropriate
collective noun to complete the sentence.)
a) shoal
b) swarm
C) suite
(iv)  The child and woman left for the police station. (Rewrite the sentence
changing the number of underlined nouns)
(v) My niece met the priest in a temple. (Rewrite the sentence changing the
gender of underlined nouns)
(vi)  Man was first almost ____ animal. (Fill in the blanks with suitable article.)
(vii) He saw an unique flower in the garden. (Rewrite the sentence using the correct

article)
(viii) My mother said that ____would come to school today.
a) her
b) she
c) he
(ix)  This is the (old) fort in Delhi. (Fill in the blank with the correct degree
of comparison of the adjective given in the bracket.)
(x) She ____ like you. (Choose the verb auxiliary to complete the sentence.)
a) doesn’t
b) don’t
c) do
(xi) My neighbour and | (are/is/am) good friends. (Choose the verb
auxiliary to complete the sentence.)
(xii)  Our school (have/has/are) a big playground. (Choose the verb auxiliary

to complete the sentence.)

SECTION- C (LITERATURE)

Q6. Answer the following questions with reference to the given context:

A. He knows he shivers in the cold (5)
And in the summer he will fry
Do seasons come up from the ground?
Or do they drop down from the sky -
Are questions that have bothered him.

(i) The poet of the above lines is:
a) K.N. Daruwalla
b) Rudyard Kipling
c) Walter D Wintle
(ii) Herefers to in the above lines.
a) God




b) Monkeys
c) Scare crow

(iii)) What happens to scare scow in the summer season?

(iv) The questions that bother the scare crow are
a) How to keep an eye on monkeys and porcupines
b) Where do seasons come from and where do they go
c) How to bolt his upper storey door

(v) The rhyming scheme of the above lines is
a) AABBCC
b) ABCBB
c) ABABC

B. In his accustomed voice as near as he could feign it, ‘What do you mean by
coming here at this time of day?’ (5)
(i) Who is the speaker of the above line?
a) Bob Catchit
b) Scrooge
c) Fred

(ii)Who is the speaker talking to
a) Scrooge
b) Bob Crachit
c) Fred

(iii) The word ‘feign’ means
a) to pretend
b) to notice
c) to shout

(iv) What did the speaker do after speaking this line?

(v) The author of the above lines is
a) Rudyard Kipling
b) Charles Dickens
c) Kenneth Grahame

Q7. Answer the following questions in 30-40 words each.(Do any FOUR) (2X4=8)

(i) What does the phrase ‘think high’ mean? (If You Think)

(il) Why was Mary disappointed after the semi-finals?(The Unstoppable Queen of
Boxing: MC Mary Kom)

(iii) When does the speaker give rest to the six honest serving men? ( | Keep Six
Honest Serving Men)



(iv) What was Mr. Toad doing when he heard the sound of the car? (Mr Toad’s
Adventure)
(v) Who rescued the lost child? What did he offer to buy him?

Q8. Answer the following question in 50-60 words: (3X2=6)

(i) What did Daedalus warn his son about? Did Icarus listen to his father’s
warning? What was the result?

(ii) Did Margie have regular school hours? How was her school different from
the old school that Tommy spoke about?



This question paper contains 2 printed pages

malPeazt BAL BHARATI PUBLIC SCHOOL, DWARKA, NEW DELHI
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SUBJECT: Francgais
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Moi , Je m’appelle Lisa ,J’ai douze ans , je suis canadienne et j’habite a Montréal.Je parle

francais et anglais.

Ma copine Nathalie a douze ans aussi-nous avons le méme age.Elle est italinne.Elle parle

italien et frangais. Nous parlons frangais entre nous.

Mon copain Marc habite a Paris.Il a treize ans.Il parle trois langues- francais , allemande , et
italien.Marc et Nathalie parlent italien quand ils sont ensemble-mais je ne comprends pas

italiens!

Q1.Dites vrai ou faux : (1x5=5)
i.Lisa ne parle pas italien.

a.vrai b.faux

11.Lisa et Nathalie ont 12 ans.
a.vrai b.faux

11i.Marc a 12 ans aussi.

a.vrai b.faux
iv.Nathalie parle trois langues.
a.vrai b.faux

v.Ils sont amis.

a.vrai b.faux

Q2.Répondez : (1x5=5)
1.deux verbes

1i.deux noms

1ii.un nationalité

Q3.Conjuguez : (1x5=5)

a.Tu ce journaux. (aimer)

b.Nous ne Pas la télé.(regarder)
c.Elle (appeler) son ami.

d.Il (finir) le devoir.

e.Nous la glace.(manger)

Q4.Mettez a la forme convenable : (1x5=5)
a.Les filles sont (intelligent)
b.Paul et Pierre sont (méchant)
c.Regardez la image.(joli)



d.La chamber est (petit)
e.La maison est (grand)

Q5. Mettez au négative : (1x5=5)
a.Vous avez des stylos.

b.Il est beau.

c.Ce sont des glaces au chocolat.
d.Ils regardent la tableau.

e.Nous mangeons de la pizza.

Q6. Répondez par une phrase affirmative ou une phrase négative : (1x3=3)(any3)
a.Tu es indien?

b.Il parle beaucoup?

c.Rea travaille a lambassade?

d.Tu aime manger le chocolat

e.ll va au Japon?

Q7.Mettez au pluriel: (1x5=5)
a.Il est beau

b.Il est sympathique.

c.Ils sont grands.

d.il est italien.

e.Il est Suisse.

Q8.Remettez en ordre: (1x2=2)
a.est/ le / pilote / frere / de / roland .
b.ne/je/au/cinéma / vais / pas

Q9.Décrivez une saison de votre choix. (5)
Q10.Faites votre carte d’identité. (%)

Q11.Répondez par une phrase affirmative ou une phrase négative : (1x5=5)
a.Tu es indien?

b.Il parle beaucoup?

c.Rea travaille a lambassade?

d.Tu aime manger le chocolat

e.ll va au Japon?

QI12..Nommez: (1x5=5)
a.Un vin de France.

b.La féte nationale de France.
c.Une féte de France

d.un profession

e.un pays voisin de France.
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BAL BHARATI PUBLIC SCHOOL DWARKA, NEW DELHI
SAMPLE PAPER
CLASS VI
SUBJECT - GENERAL KNOWLEDGE

TIME : 1.5 hrs

NAME

SECTION ROLL NO.__ INVIGILATOR’S SIGN

GENERAL INSTRUCTIONS:

(i) Question paper is divided into 04 sections viz: section A, B, C & D.

(i) Section A is of 20 marks & consists of 03 questions from the book

(iii)Section B is of 10 marks & consists of 10 questions of 01 mark each on current affairs.
(iv)Section C is of 10 marks & consists of 10 multiple choice gestions of 1 mark each on
Mental & Logical Reasoning.

(v) Section D is of 10 marks & consists of 10 questions of 01 mark each on Life Skills and
Value Education

QL.
()

(ii)

(iii)

(iv)

(vi)

Section: A

Answer the following questions by choosing the correct option:

(10)
Which natural disaster results in fast moving winds?
a) Earthquake
b) Tornado
c) Tsunami
What is the main cause behind a cyclone?
a) Thunderstorm
b) Earthquake
c) Tsunami
Identify the country to which the parliament ‘Diet’ belongs to
a) China
b) Japan
c) Bhutan
The branch that deals with the study of celestial objects, space and the universe is called
a) Zoology
b) Anthropology
c) Astronomy
Born in Maharashtra in 1975, he has been called “Picasso of India”
a) SH Raza
b) Tyeb Mehta
¢) MF Hussain
This marine mammal can be found in all oceans of the world. Its major arteries are so large
that a 2 year old human baby could crawl through them.
a) Blue Whale



(vii)

(viii)

(ix)

)

Q2.

b) Shark

c) Dolphin

The native place of a rare animal called ‘A baboon like monkey, Gelada is
a) Australia

b) Madagascar

c) Ethiopia

A condition in which there is a deficiency of red blood cells in the blood, resulting in pale
skin and weakness is called
a) Diabetes
b) Anaemia
¢) Jaundice
is a mobile operating system developed by Google, based on a modified
version of Linux Kernel.
a) Asteroids
b) Android
c) Tetris
She was the first blind and deaf person to earn a college degree.
a) Sudha Chandran
b) Marla Runyarn
c) Helen Keller

Unscramble the letters to name the herbs: (5)

()
(ii
(ii

(iv) NTMI
(v)  AIBLS

HMETY
)  ERAONGO
i) AYELPSR

Q3. Match the old names of these countries with their new names: 5)

(i)

(i)
(iii)
(iv)
v)

Diet (a) Bangladesh

Sabor (b)Croatia

Kongreso (© Russia

Duma (d) Japan

Jatiyo Sansad (e) Philippines

SECTION B



(Current Affairs)

I.Answer the following question : (1X10=10)

Q1. Which country proposed to release treated radioactive water from decommissioned Fukushima
nuclear reactor into the ocean?

Q2. Which city is the host of the ‘Meeting of Space Economy Leaders under India’s G20 presidency’?

Q3. When is World Lion Day celebrated?

Q4. Independence Day 2023: India celebrates its Independence Day.
Q5. Which country won Asian Champions Trophy in hockey?

Q6. Which Bill related to Delhi is recently passed in Lok Sabha and Rajya Sabha?

Q7. Which India’s mission has been successfully launched to Soft Land on the Moon’s South Pole?

Q8. The water level of which river was increased in the capital recently?

Q9. Which country has become the first to ban plastic produce bags?

Q10. What did PM Modi gift to French President Emmaneul Macron?

SECTION-C

(MENTAL AND LOGICAL REASONING)
1x10=10 MARKS

1. 102, 109, 116, , 137 1 mark
a) 126,130
b) 123,130




a)
b)
c)
d)

c) 120,135
d) 125,136

Look at the series: 36, 34, 30, 28, 24, ... What number should come next?

a) 20
b) 22
c) 23
d) 26

Identify the figure that completes the pattern. Identify the figure that completes the

pattern.

A wWwDN PR

Truck is to transport as ovenisto__

Boil
Cook
Bake
Fry

In a certain code language ‘wake up’ is written as ‘te re’ and ‘get up’ is written as ‘po re’.

Find the code for ‘up’.

a) Te
b) Re
c) Po
d) Go
If code for PLAY = YALP, then code for TEAR =?

ARET

1 mark

1 mark

1 mark

1 mark

1 mark



b)
c)

a)
b)
c)
d)

10.

TARE
RAET
REAT

In a certain code language ‘I will go’ is written as ‘ta ma ra’ and ¢ I will eat’ is written as *

ta ma ga’, then code for ‘eat’ is ?

Ga
Ma
Ta
Ra

Identify the figure that completes the pattern.

1 B

(1) (2)

Identify the figure that completes the pattern.

V.

1) () 3)
a) 1
b)y 2
c) 3
d 4
Melt : Liquid :: Freeze :?

a) Gas

1 mark
1 mark
®) (4)
1 mark
(4)
1 mark



b) Condense

c) Solid
d) Crystal
SECTION -D
LIFE SKILLS AND VALUE EDUCATION
(1X10=10)

Q. Tick the correct option:

1.

Which of the following statement is correct about the right age of child

and an adult?

a) A person below the age of 14years is a child and above 21 years is an adult.
b) A person below the age of 16years is a child and above 20 years is an adult.
c) A person below the age of 18years is a child and above 18 years is an adult.
d) A person below the age of 18years is a child and above 21 years is an adult.

Which of the following statement is the correct about Privacy?

a) It means exposure, publicity, openness and transparency.

b) It means interfering in someone’s personal life.

c) It is the state of being free from having your secrets or personal information shared.
d)It is the state of being free from mental and physical problems.

What are the three rights that you think are the most important for every child?
a) Right to freedom from slavery and torture.

b) Right to Parental care and equality

¢) Right to Food, water and Shelter

d) Right to participate, to access justice

Where are our rights written somewhere the way history is written History book?
a) History Book

b) Limca book of world records

¢) Constitution of India

d) Human rights book.

When do we celebrate Constitution Day?
a) 15 August

b) 2nd October

c) 26th November

d) 5 September



6. Who wrote the book “We, the People of India”
a) Jawahar lal Nehru
b) Mahatma Gandhi
¢) B.R. Ambedkar
d) Vallabbhai Patel

7.Name the famous Boxer who had dyslexia and won the Olympic gold Medal?
a) Shiva Thapa
b) Akhil Kumar
¢) Mohammad Ali
d) Vijender Singh

8.Which two Indian languages are among the top 7 world languages?
a) Hindi, English
b) Sanskrit, Hindi
c) Bangali, Sanskrit
d) Hindi, Bangali

9.Which is the most populous state in India?
a) Uttar Pradesh
b) Bihar
c) Punjab
d) Rajasthan

10 Which three countries are the most populous?
a) Germany, USA, India
b) China, India, USA
c) USA, Sri Lanka, Germany
d) India, Sri Lanka, USA
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